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ENGLISH VERSION

1 (a) Explain meaning and definitions of Financial 7
Management and discuss scope of Financial

Management in detail.

(b) Explain importance of Financial Management. 7
OR

1 A company 1s considering to install to project involving 14
an investment of Rs. 5,00,000 each. The net profit before

charging depreciation from the project but after tax are as

under :

Year Project-A Project-B
1 1,25,000 2,50,000
2 1,87,500 2,50,000
3 1,87,500 62,500
4 1.25,000 62,500

Present value of Re. 1 at 5% rate i1s as follows :

0.9524, 0.9070, 0.8638, 0.8227. Calculate following methods :
(1) Pay back period

(2) Average rate of return

(3) Net present value

(4) Internal rate of return.
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2 (a) Following information details related to Darshan Ltd. 7

for the vear ending 31-3-2012 :

Sources Book value | Markel value

1 E/s of Rs. 10 each 8.00,000 | Rs. 20 per share

o

10% P/s of
Rs. 100 each 2.00.000 | Rs. 75 per share
3 14% Debenture of

Rs. 100 each 10,00,000 | Rs. 80 per debenture

Expected equity dividend is 20% which will grow

at 8%, tax rate 1s 40%.

Find out :

(1) Weighted average cost of capital based on book
value and market value.

(2) If company is planning to finance Rs. 5,40,000 by
equity share at Rs. 18 per share. Calculate

marginal cost of capital of the company.

(b) Abhi Ltd. issued 12% 10,000 Ir-redeemable P/s of 7
Rs. 500 each. Floatation cost is Rs. 10 per share.

If company issue shares :

(1) At par

(2) At 10% premium

(3) At 10% discount. What is cost of P/s capital ?

OR
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2 Discuss various types of leverage and explain with 14

example that, "Financial leverage is two side weapon".

3 (a) Following details relate to the 2 companies : 10

Particulars Com.-A Com.-B

Equity capital

(Rs. of Rs. 10) 40,000 20,000

10% debts 10,000 30,000

Total Investment 50,000 50,000

Net operating income 10,000 10,000

Answer the following :

(1) Given the cost of equity of 12% for both the
companies. Calculate cost of the firm for both
under NI approach and comment on it.

(2) Given the cost of the firm at 15% for both the
companies. Calculate the cost of equity for both
the company NOI approach and comment on it.

(b) Explain various approaches for capital structure. 4
OR
3 (a) Explain various types of dividend policy and discuss 7
advantage and disadvantage of stable dividend policy.
(b) Explain legal restriction on payment of dividend. 7
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4 (a)

(b)

Explain various factors determining needs of working 7

capital requirements.
Various types of working capital. - Explain.

OR

4 Write short notes :

(1)
2)

5 (a)

(b)

(b)
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Management of working capital

Characteristics of working capital.

What is cash budget ? Explain in detail the

advantage and disadvantage of cash budget.
Discuss importance of inventory control.

OR

Discuss various cost of maintaining receivables.

Write short notes :
(1) Various level for inventorv control

(2) Strict and liberal credit policy.

14
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